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(b) B0 D.

(d) '80 c.

(b) Rs. 1,50,000.

(d) Rs. 50,000.
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Section A

' Ansuter all questions.

Each questíon carríes I marl¿.

Maximum : 80 Marks

(A) Choose the correct answer:

1 [,ong term cêpital losses can be set offagainst:

(a) Any other income.

(b) Only against any capital gains,

(c) Only against long term capitai gui.rr.

(d) None of the above.

2 Loss from a source' the income of which is exempt under scction 10 of Income Tax Act :

(a) Can be set ofï'against any other jncome.

(b) Can be carried forward for any number of years.

(c) Cannot be set off against any income.

(d) None o.f the abovc.

3 Deduction in respect of medical treatment expense incurred by an individual or HUF for
treatment of specified disease is covered under section :

(a) B0 DD.

(c) 80 DDB.

4 Totaì dcduction under sec. g0 c + gOccc + BOccD(l) canroi exceecl :

(a) Rs. 1,00,000.

(c) Rs. 2,00,000.
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In case of irnport, the tax lcviccl is

(a) CGS'I.

(c) SGST'

in the blanks :

IGST.

Both CGST & SGST'

(b)

(cl)

(B) Fill

6

7

I

IGST stands for

Se¡tion 70 of Income Tax Act deals with F'

Tuitionfee(excludingdorration)paidbyassesseetoacollegeorschoolinlndiaforfull-time
educationofhischildrcnis<leductibleunderSection

Deduction und'er Section 80QQB is in respect of 

-
set off of tax paid on purchase of raw materials used in manufacturing as supply of goods is

called (10x1=10marks)

Section B (Short Answers)

Answer at least five questions'

Each question cati¿s 4 marhs'

AII questiotll can be attendzd

Ouerall Ceiling 2O'

11 Explain clubbing of income with an example'

tZ Explain the provision of Section EODD'

13 WhatisCBDT ?

L4 Explain the concept' of Tax Collect¿d at Source with two examples'

15 what are thc due dates of fiting'oruntary retur'of income for various assessòs under rlrcome

Tax Act ?

16 ExPlain cascading effect oftax'

t7 Specify any three disadvantages of GST'

18 ExPlain the concePt of IGST'

1g what is the general concept relating to thc lime of supply of goods ?

20 What is valuc of supply of'goods alrd services ?

9

10

(5 x 4 = 20 marks)
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Section C (Short Essays)

Answer at least four questions.

Each question carríes I marhs.

Alt questinns can be attend.ed

Ouerall Ceili¡Lg 32. .Þ

27 Specify the regulations for inter head adjustment of losses under Section Z1 of Income Tax
Act.

22 Explain Section SOTTA of Income Tax Act.

23 Who are the various fncome Tax authorities to administer Income Tax laws ?

24 what are the powers of an Assessing oflicer/Income Tax oflicer ?

25 Explain the terms belated return and return of loss under fncome Tax aet.

26 What are the advantages of GST ?

27 What are the circumstances where inspection under GST can be done by authority ?

28 what are the penalties imposed for the following offences under GST ?

a) Delay in filing GST returns.

b) Not filing GST returns.

c) Committing fraud.

(4x8=B2marks)

Section D (Long Essay)

Attswer (rny otre question.

Tlæ question camíes 18 mørhs.

What are the various types of assessment under Income Tax Act. Explain in detail each type.

What are the various rates of taxes under GST ?

29

30
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l\,lr X hns givcn thc fbllowiltg rìctails o{'hrs inconles alld

2019-20. Compute total incomc :

Re¡lt fi'o¡tr housc ¡rropcr'[Y

Annual rnunici¡ral value of'thc abovc propcrty

Standard rent

Municipal taxes paid

Interest on housing loan for abovc property

Interest from Savings bank account

Lottery winnings (he spent Rs. 2,000 on lottery ticket)

Annual School fee for 2 childre¡r

National Savings certificate purchased

Life insurance premium Paid

Medical insurance Prcmium Paid

Advance income tax Paid

Spent on treatment of daughtcr rvith severe disabili'"y

urvcstrtl(rllL lbr tilt:

8,50,000

7,00,000

9,00,000

50,000

1,50,000

l_5,000

5,00,000

50,000

60,000

20,000

10,000

40,000

30,000

(1 *

c 10lG
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